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��� و �
ر��
  ا
  


	�ت ������ ��
�� در � ��	ت دوران  �	رل �	ر�� و ��در�� ا����ادا�� ����� �� 
ا�4 و'&� (#ان د203 ا�! �� ا�01ا /	پ . ,�+	 ��� � $#" ا�!، (	 ��) و'&� ه��ا" $#" ا�!

 ����د" (#��> ر�0#" ا�! و (� ه�40 د203 ���0; ���" :�و�9س"�	ز" ا6 از ا�4 �
	�ت   � 
دادم �
#�� ا�4 ا�� 	را�) را �0? در �	<�� ا<2 �
	�ت ����� ��د" و درا0�1	ر 1=ا��#9	ن 

0 �� �
#�� �	$� ��ا�
=6 را �0? ����� ��د" (=دم �� در را" �=د" ��� � . $�	 '�ار ده>:
. ��� � $#" ا�! ١E٢ �	 ١٣١" از $�	ر" �A=�B� ا�4 �
	�ت �	��=ن در را" �=د. $#" ا�!


I= ا�B	م $#" ا�!– 1977(� �	ر�G ا�� 	رات :�و�9س /	پ ا�4 �
	�ت از �=6 �  .
����� (�� اول �
#�� :�و�9 را در $�	ر" ه	K9 6$�� 1=ا�#�# و ا��J (�� دوم ,ن را 


	�ت �	ر�� و ا���� را :) �) 9. �) 1=ا�#0� ،��#
�0م �� (�ا6 (	 :	�	ن ����� ا�4 �
 �3	
را (� '�> �	ر�� " ,زاد6، (�ا(�6، (�ادر6 -��+=ر6 /40در(	ر" "$�	ر" ,��#" ����� �

  . را در ��M دارم
6=N� #0�O 

  
٢-  
  
�	ر9	ه...��=�S	ت ا<�) و � �	�! ) 9
��ش $���)+	�Q�> 6) و ���	ن �=P) #03=ر 

�  (	زر9	�)Q�/�40 وا'Q� ا6 از �=� =
I� از ��I���, T	 و از �=6 د���  (� �) 1	�! 
�UN=�ت �	ز" ا6 �� از ا�4 � =ره	 وارد . 9 	��  را" در�	�) ه�# $�') ��اه> ,ورد" (=د

���	ن ا��	د" (=د � �) $# و U1=<	 ا�VW "=S و �
�" ه	�) �� در $��	ن ا'�U	د6 (
	> !0Q'=� �B0�� و در ��1	ر د9�9=�) �	د/ 	را '=� (A	ا��� T���� ت	
SW ت	S�	�� ن	SO

 و  9
20 �	��ا�=�	ن، ا���Q	ر. (=دو �	ر�9ان را $#�#ا (� ��	�W" ا�#ا�1�) �Y=دا3+	(ز�40 
9
��ش (	زار6 �� (�0 از :�0 ا(Q	د6 �+	�) (�=د �) S�=� !��9	ت :0#ا�� �UA �	ز" 

و3) در ا��B	 و در ��B=ع (�0 از ا�4 �0	ز6 . ا6 را در �N� �0=�ت �	ر��) ��اه> �	1!
ه	،  ! �B	ر6 ��ا���Q	ر � =ره	�) �� ا�01ا � T $#" ا�# (�ا6 ��	زA	ت. ار�>(� �\�2 �#

ت 9
��ش ا�B	د ��د" ا�! و در ��B0� )	 A (I�#$�0� د���6 ا��0?" ه	6 �	ز" ا6 را 
#)	� (� 6�� 0)...  

. �O�� 40�� در اوا�[ '�ن ه&#ه> ,^	ز $# و �
��S	 �	 اوا�[ '�ن هB#ه> �#اوم :0#ا ��ددو
�	ر9	B�"	رت و  �) !S
� ��0ا�) �  6=�	_ �
�� در را(P� (	 ا���Q	رات � (�Q�> 6	ه


���Q" ه	 ا�#a ا�#a . دا$��# (	 $�	ب �?ا��#" ��6 9
��ش �) �	���#����#" ه	) 6� ��Uف 
��د�# (	زار �+	�) را (40 1=د �

0>ه	 (� (+	S� 6	رزات W=��) !S� "#�A#�2  $#�# و ��  .
 ر'	(! (40 .�! (	 9 	�� '=ا�40 در�	�=رد6 و ا�UN	رات ا���Q	ر40�/6 دورا�) ه��ا" ا

��! !0A=��� د	Bا� ،���Q� 2 1=د را درO "را 	د و در  ه�� (� =B�

	د '�ار داد �Q، ا�	ه
c�� "d�=) و c�� ��, 4�1م در (�ا��وV�ه	6  ه	6 در�	�) �� ���=$! ر'	(! ,4��1 


�	ن ا�! �� (���6 1=د را در � در�	، ا����0و��4���# � =ر در. ,�	ن را ر'> �) زد
��# �B	رت و �	ر9	" (� e&O (�Q�> 6	ر . ه= � J� در 	+�� ?���� ،	Bا�4، در ا���)	�)– 

���# و ) )��( �� از �Q	03! ,ن (	زار دا1�)�	ر9	�Q�> ") :0=��� �=�[ '=ا��0) (� (�	S0� :
I�� ���	ت 4 ا�! �=�[ ��9=�[ ا�UN	رات در )	زاره	6 ا���Q	ر6 و �	 �	�( �



 

)20
: > و ��	ن در ( ��00f و �S#�2 �=اد 1	م در � =ر�#�=د �
+20 �در (	زار 1	ر�)) د�&�ا�
03� ا6 �� در دا21 � =ر �=03# �) ، و <	درات �=اد 1	م او)ر ��ا�
�ا���
�	ن و ا(�� > د
	د واردا�) ا�Bه	�) در ��00f و �S#�2 �=اد  و ��	�Q!) : > در ا���
�	ن($# را ���=ع ��د�#

�� در ز��). :�S� در ا���
�	ن(��د�#  �0)��0! �Q'=� �( 6ر	�Q) و '#رت ا���	رت در�	B� 
4 9
��ش ��(���6 د�!�	g 	�Q0SW (=د ���	" �	ر9	� (&0�  .ه	�Q�> 6) �0? (=د ) و 


	 را دور �) زد���, �� �� (=رژواز6 در O	ل ر$# ز��0ا6 (،� I���, T	 و را" در�	�) 
!03	Q�#��1	� <ز" ا6 را ��اه	رت در .  �	B� ،	I���, ر	�Q6 ه�# و /40، ا��	زاره	)

ه	6 () �	(
� ا6 را  ) �	�ه	، :0 ��!ه	6 داد و ��#، و (P=ر �� ا���Q	رات، ا�?ا�� را"
9
��� در ز�0 �) ���ش ���A i	�2 ا�
V() ه	6 (	زر9	�)، � ��0ا�) و <�	�i �=�� �9د�# 

�	� 4P) در�Qدا3) د=Y� #0�	B$) ا�	ل ��و:	O ر.  
0$"=!� و  9	�� �Q"#) از ا�4 :� :	���=6 ر$# �?ا��ه	Y� (��#' #03=�  �> 6=دا3) �	 $�

#���	� (� �Q�=� �&'و () ��. ه	�Q�> 6) �	6 1=د را (	ز ��د�# �	ر9	". )	زاره	�S� (=د�# 
�	ر (40 $��!�Q�> 6) ��	��#9	ن 1=د را (�9?�#�1د" (=رژواز <0

در O 40A	ل ه	   و �

�	ر در ��4 1=د �	ر9	" $# <0

� ��=�. 

ه	 (
+> 1=د  �	ر9	".  �
	g	 �0? رو (� �?و�) (=د و (	زاره	 :0=��� 9
��ش �) �	���#و3)
�	ر ,�# (��M �) ر�#�#0	� )��=N� 40�/ 2(	
ع �	$40 (�	ر �=�� (�	(�ا�4 ا��1ا. در �

�	ر9	�Q�> #03=�  .") $#��ا�
Vب در ز�0 4�?��	� a#ا� a#40 ا���� i�	�>  (�Q�> 6	ه
$#�#، و �1د" (=رژواز�Q�> 6) �S� ?0#�2 (� �0�0=��ه	�Q�> 6)، رؤ�	6 وا'Q) ار�� 

 .<��Q) $#�# و (=رژواز6 �#رن را (=�=د ,ورد�#

 ر$# :0#ا ��<�	�i ���40 (	زار �+	�) را (=�=د ,ورد�# �� :�0 از ا�4 (	 � I���, T	 ز�0
0
	 ��N=ل �	1!+	�) (
�A! (	ز(	زار �. ��د" (=د�A ت را	W	S�0ا�) و ار�� �. ر9	�)، 

�) (��=N� 40�/#0�	Bا� i�	�> ش��
ه	6   و (�ا�	س �N=�ت و :0 ��! �+> 1=د (� 9
 � (=رژوا �0? د" (�ا(� $# و3) 
���0ا�) و را" ,ه4، ���	�� ه	�>SW 6	�i و (	زر9	�) و 


	در : ! <SW ��NP'�ون و� �د" $#" (=د�#)ت د��� (�k� ... 

(	 (+�" (�دار6 از (	زار �+	�)، (=رژواز6 (�ا6 �=03# و ��Uف در ��	م � =ره	 ...
	 ا�0#6 وا:
��ا�	ن، (=رژواز6 در �
	(' .� 2	2l $#) �+	ن و�W)(U1=<�0) �+	� �=ل 

 و ه� روز (�0 از :�0 " $#) د/	ر �����<�	��>  .�� (��#' i	�i ��) را از (40 (�د��:	
ه	6 ���#ن  !#6 را ا�B	د ��د �� (�ا6 ��	م ��(=رژواز�> 6	�i �#�. ازه> :	$0#" �) $=د

�� د��� از �=اد 1	م (=�) ا��&	د" ��) ��د، (�I� IO .> ��گ و ز�#9) را :0#ا ��د (Q�	�>
UN� دور د�! وارد �) $#�# و nW	�� از ���� (#�4 �=اد او03� ا6 را I)	ر �( (�د  (��=

n��W (� �=03# �) ر�#0 �� ��+	 (� ��Uف دا21 اU�1	ص �) �	�! (�I� (� ��	م د�0	 <	در 
) (�,ورد" �) $#، �0	زه	6 �ه	�) �� :�0 از ا��> ]�=� 4	�VA� iو" (��0	ز.  �) 9 !


�. �	ز" ا�P� 6ح �9د�# �� در �n�Q دور ا��	د" ����� 4	nW �+	ن (=دP�� 6ا�4 ا�?وا�)	�) 
9
��ش ��	�S	ت �+	�)، و وا(
��) �+	�) و (40 ا�3��) �S#�2 �9د�#�ا6 و  �) (�... 

 ار�S	W	ت، (=رژواز6 (�(����4  و�	�)"#2	 i��� !�� 0: ا(?اره	6 �=03# و (+S=د �?ا��...
 ���40 ��	م ���UN=�ت ارزان '�0! و �=:�	. ه	 را  (� �
�0 ��#ن �#رن �=ق داد !��

=�! (�(����4 ا'=ا�) را �� (	 �����) (	 1	ر�) U1.  ه> �=(UO#0	ره	6 /40 را در
 �=03# ="ه	 را �SB=ر �	1! �� $0 !�) ورز�#�#، (� �
�0> وادا$! و �	 :	6 ��گ، ��

(=رژوا را (I	ر (�S#�# و ,�+	 را وادا$! �	 (� ا<VPح ��#ن (=رژوا�) را ��� n 1=د '�ار 
�� (=رژوا ( =�# 	�Q� 4�#) ،#ده� .	SQ) 1=د ��=U� 6ن را از رو	رت د��� (=رژواز6 �+

 ...�	1! و �	�	ن داد

  



 

0
�Q� ��=0وف ,�3	�) 9=�?�ف ...� �� (S3	� !6�09، روا� �B0�� !+�Gützlaff  40/ از
ازد�	د ��0Q! و ا�?ا�� ,رام و3) �#اوم در ا�4 � =ر $�ا�[ ز�#9) . (� ار�f	ن ,ورد" ا�!

ه	 ,�#�#  ��k ا���0
).  � VIت ��Q#د6 �	�1� ا�!ا���	A) را (�ا6 ا���r! ��دم د/	ر
��د�# 20�N� ر#�) s�: ر6 را در	B� 6در . و (?ور ,زاد (�	I���, و (
ه?اران � �) ا���0

(�	در /40 :+�= ����9# و در �#ت �=�	ه) ا�4 � =ر را (	 ا��	س ارزان '�0! 1=د ا$S	ع 
��د�# .�	�> i'در وا �� (�0/ i�	�>iد�# در=) (د�� 	رو� lد�#رو	ر ا��	�و  ) (	 �	$40 از 

ه	 وارد <�#وق ��) $#�#  �	03	ت. ا��kا�=ر6 �?3?ل �	:��K /40 در (�Nا�) 0MA> ��و ر�!

��) $#" (=دI$ر ور	را��دم /. و دو3! د/ �
� G�� <QW �0: 40 (�0 از aد�# و  در��

��  زد�# و �\�=ر�4 ا��kا�=ر را �) � 2I �=د" ه	0MA 6> (� $=رش د�!( (�$=��� ،#�� 
� =ر رو (� ا�PN	ط �) ر�! و ا�
S��= 1 ()V	ر . دا����0 راهS	ن (=دا�) �0? $#" (=د

��د (� #�#+� ��
�در (40 ��دم $=ر$) A#" ا6 (� ��ا�> _�وت در . ه�u=ن ,�� ز�� 1	
 <0


= و �
� در �=6 د��� ا$	ر" �) ���# و اVAم �)  دار�# �� _�وت (	�# دو(	ر" �I�


	 KOف �9دد$=�P� #�	) ?0� ص=U1 !0I3	� ) 9=�?�ف :� . د و�	0=�� ,�3
0� ��ز�	�) 
 <
از (0
! �	ل دور6 از �+# ��#ن (� ارو:	 (	ز9 !، $�0#" (=د �� �A J#" از �=�0	03
�Oف �) ز��# و :��0#" (=د �� ا��+	 از /� �) 9=��# و �=�0	03
> ��Q) /�؟ و'�) �=g=ع 

�� (� T��Q� ا���) د را	��� ! Oو 	ز�#�#، (: 


	�# د'0
	 ه�	ن «A 4د" ام؟ ا��I� ) :0#ا�	4 �&�ت ا��0? ره����:� �4 ه�u0	" از ا�4 د

0	ر6 از (�(�ه	6 /�0) ,��ا ���	د �) ز��#) �� !� (�#� �� #��
 »! ���M	�) ه

 

�� ��03
> ارو:	�) ه�	ن �
�S) را دا$�� (	$# 	=�0� 	�0) (/ <
03	0�=� �� <0��
��ض �& 

�� ا��kا�=ر�Q� ،(��#' 6) .  ه�&2��0/) (	 �� !� (�'=$=1 (
(	 ا�4 و�=د �	6 (

ا��=ار���UO 4	ر �+	ن در |�ف ه ! �	ل (	 9�=3� ه	S�: 6� ا6 (=رژواز6 ا����0 (� 
9
��د" ا6 ���+) �9د�# �� ��	�s ,ن (�ا6 ��#ن وا�# اه�0! �=ق اQ3	د" ا6  (A	ت ا����=N�

!� .B��� ��40Q ارو:	�) �	 در ��ار ,��#" $	ن و ز�	�) �� )� :	6 د�=ار /40 ز�	�( 
�	ر6 ��	م 0A	ر (	ز �) $=د ر�0#�#، رو6 درواز" �M�	N� ع و	B6 ار�	دژه �) ��  .ه	�) 

  
 

 ٠٣�٠٩�٢٠٠٧  ١E٧را" �=د" 


